Chapter 8. Reflection

Ex 8.1

Answer 1.

(i} (3-9)

The co-ordinate of the given point under reflection in the x-axis is: (3,9).
(i) (-7, 5]

The co-ordinate of the given point under reflection in the x-axis is: (-7.-5).
(i) (D, 6)

The co-ordinate of the given point under reflection in the x-axis is: (0,-6).
(iv) (-4,-3)

The co-ordinate of the given point under reflection in the x-axis is: (-4, 8).

Answer 2.

(i) (2, 8)

The co-ordinate of the given point under reflection in the yv-axis is: (-2.8).
(ii) (-1-3)

The co-ordinate of the given point under reflection in the y-axis is: (1,-3).
(ifi) (5,-6)

The co-ordinate of the given point under reflection in the yv-axis is: (-5-8).
{iv) (-4, 7)

The co-ordinate of the given point under reflection in the v-axis is: (4, 7).

Answer 3.

(i} (-1-4)
The co-ordinate of the given point under reflection in the origin is: (1, 4)

(i) (2, 7)
The co-ordinate of the given point under reflection in the origin is: {-2-7)

(i) {0, 2)
The co-ordinate of the given point under reflection in the origin is: (0,-2)

(iv) (9-9)
The co-ordinate of the given point under reflection in the origin is: (-2, %)

Answer 4.

P' = (2, 10). Therefore, the co-ordinates of P under reflection in the x-axis = (2,-10)

Answer 5.

5= 1(2-5). Therefore, the co-ordinates of 5" under reflection in the origin = (-2, 5)



Answer 6.

P'=1(-3,4).

Therefore, the co-ordinates of P under reflection in the x-axis = {-3.-4)
and the co-ordinates of P” under reflection in the origin = (3-4).

The single transformation = reflection in the y-axis.

Answer 7.

P' =(8,-6).
Therefore, the co-ordinates of P under reflection in the x-axis = (8, &)
and the co-ordinates of P under reflection in the yv-axis = (-8, ).

Answer 8.
R = (3,-2). Therefore, reflection of R in the originis R* = (-3, 2)

Q = {-7,1). Therefore, reflection of Q in the x-axisis Q" = ({-7,-1)

Distance between R* Q' = J7 (=30 + (-1-2F

- JEA (3
= 25

=5Sunits

Answer 9.

B =(3, 2}, Therefore, reflection of B in the x-axisis B'= [3-2)
C =10, 3), Therefore, reflection of C inthe line B is C' = (&, 3).

Answer 10.

P"= (5,-2), therefore, co-ordinates of P' = [-5, 2) and hence the coordinates of P = {-5,-2)
Single transformation = reflection in the y-axis

Answer 11.
Let P be the point = (-2, 4).
Image underreflection in the origin P* = (2,-4)

Image underreflection in the y-axis P* = (2, 4)

Distance between points of reflection = «,."(4— (-2 +(2-2F

- V&4

= 2Units



Answer 12.

A=(2,3);B=(4,-4); C = (6,-7)

Co-ordinates of AABC" underreflectionin the line y=0:
A =(2,-3):B' =(4,4); C'=(6,7)

Co-ordinates of AA"B"C"underreflection in the origin:
A" =(-2,3);B" = (-4,-4); C" = (-6,-7)

Answer 13.
P = (-8, 1}, therefore co-ordinates of P' under reflection in the x-axis = {-8, -1).
Hence, the co-ordinates of P" under reflection in the origin = (8, 1).
The single transformation = reflection in the y-axis.
Answer 14.
(i) M. M,onP(2,-5)
M.. M, on P (2,-5)
=M..M, (2,-5)
=M, (-2,-5)

=(-2,5),; reflectionin the origin
(i} M,.M,on A (-7,3)

M..M,on A (-7, 3)

=M,.M, (-7, 3)

=M, (7,-3)

= (-7,-3); reflectionin the x-axis
(iii) M,.M,on B (4, 6)

M..M,on B (4,6)

=M,.M, (4, 6)

=M, (-4, 6)

= (4,-6); reflection in the x-axis
(iv) M.M,on P (-1,-3)

M..M,on P (-1,-3)

=M..M, (-1,-3)

=M. (-1, 3)

=(-1,-3); reflectionin the y-axis



Answer 15.
(ihy=0
Co-ordinates of image = (-5, 2x0-4)= (-5-4)
(i) y =4
Co-ordinates of image = (-5, 2x4-4)=(-5,4)

Answer 16.

Mx=0

Co-ordinates of image =(2%0-4-1)= (-4,-1}
(iijy=5

Co-ordinates of image = (4, 2x5-(-1)) = {4, 11)

Answer 17.

(i) Find the co-ordinates of F'Q'R*, Q" and R’
The co-ordinatesare: P'Q'R* = (-1,-1); G = (-4,-1);rR" = (-4, 3)
(it} Whatkind of figureis formed by RR* Q' Q?

A rectangleis formed by RR® Q' Q.

(iii) Find the perimeter of the figure FQR’

(-4,3) (4.3)
(-4.-1}) (-1.-1) (#,-1)

The figureis a right angled triangle with sides 4 units, 3 units and 5 units.
Here, height = 4 units, base = 3 units and

Hypotenuse =

= 47+ 32
=16+ 9
-5

= Sunits

Perimeter = height + base + hypotenuse
—44+3+5

=12 units



Answer 18.
A (1,-5), the co-ordinatesof &' = (1, 2x1-(-5))=(1,7)
B(-5,1), the co-ordinatesof B* = (-5, 2x4-(1))=(-5,7)
Thedistance AB* =
= J-5- 1) + (7 - (-5)F

= f(-6F + 122
= 36+ 144
= 180

= 1341 units

Answer 19.
A(4,-1), the co-ordinates of &' = (2x1-4,-1)=(-2,-1)
A (6,-1), the co-ordinates of B = (6, 2x3-(-1))=(6, 7)

The distance between A" Br =

= JE-(2)F +(-1-(-1)F
=5 +0

= Bunits
Distance till midpoint = 4 units

Co-ordinates of mid-point = (-2+4, -1+4) = (2, 3)





